SDCKRILE SALAC. TANAWKA #X£4SDCHS
& %

SDCHILE
T & B85
% B SUS304

WRRUTEAZ  BRIS B 1180KUIS B1181AARILNFybhiRET 3,
B —1 BR-THERUFEZE

{E8OSDCY—2 i d L
- \E
{ 1
- [
FILb-Fo bt RHE b
(B SUS304) -
(BIIE -5 )
Kb HES S k !
&R
1. 27 UL ZRRIVNFYMDRADR A THIBMTEEEREICHLELES, 4.BFKERIBRESRMTT .
2 B IRETERMI R T, 5. KEEREROIC2FL LEFIRBDHIET,
3. 2FRNIN—MLUBIC KRB R EE RSB THYET,
20) & B <+ & :20) & W T & 20} & W T & U & B <+ &

d | b S k m d | b S k m d | b S k m d | b S k m
M12| 40 {30 |19 | 8 |10 || M16| 50 [ 38 |24 |10 | 13 || M20| 55 | 46 | 30 | 13 | 16 || M22| 60 | 50 | 32 | 14 | 18
M12| 45 |30 (19| 8 |10 || M16| 55 |38 |24 |10 | 13 || M20| 60 | 46 | 30 | 13 | 16 || M22| 65 | 50 | 32 | 14 | 18
M12| 50 |30 |19 | 8 |10 || M16| 60 [ 38 |24 |10 | 13 || M20| 65 |46 | 30 |13 | 16 || M22| 70 | 50 | 32 | 14 | 18
M12| 55 |30 (19| 8 |10 || M16| 65 |38 |24 |10 | 13 || M20| 70 | 46 | 30 |13 | 16 || M22| 75| 50 | 32| 14 | 18
M12| 60 |30 |19 | 8 |10 || M16| 70 [ 38 |24 |10 |13 || M20| 75 |46 | 30|13 | 16 || M22| 80 | 50 | 32 | 14 | 18
M12| 65 |30 (19| 8 |10 || M16| 75 |38 |24 |10 | 13 || M20| 80 | 46 | 30 | 13 | 16 || M22| 85 | 50 | 32 | 14 | 18
M12| 70 |30 |19 | 8 |10 || M16| 80 [ 38 |24 |10 | 13 || M20| 85 |46 | 30|13 | 16 || M22| 90 | 50 | 32 | 14 | 18
M12| 75 |30 (19| 8 |10 || M16| 85 |38 |24 |10 | 13 || M20| 90 | 46 | 30 | 13 | 16 || M22| 95 | 50 | 32 | 14 | 18
M12| 80 |30 |19 | 8 |10 || M16| 90 [ 38 |24 |10 | 13 || M20| 95 | 46 | 30 | 13 | 16 || M22| 100 | 50 | 32 | 14 | 18
M12| 85 |30 (19| 8 |10 || M16| 95 |38 |24 |10 | 13 || M20| 100 | 46 | 30 | 13 | 16 || M22| 110 | 50 | 32 | 14 | 18
M12| 90 [ 30|19 | 8 | 10 || M16 [ 100 [ 38 |24 |10 | 13 || M20| 110 | 46 | 30 | 13 | 16 || M22| 120 | 50 | 32 | 14 | 18
M12| 95 |30 (19| 8 |10 || M16|[110 [ 38 |24 |10 | 13 || M20| 120 | 46 | 30 | 13 | 16 || M22| 130 | 56 | 32 | 14 | 18
M12 | 100 | 30 |19 | 8 | 10 || M16 | 120 |38 |24 |10 | 13 || M20| 130 | 52 | 30 | 13 | 16 || M22| 140 | 56 | 32 | 14 | 18

M16 | 130 |44 |24 |10 | 13 || M20 | 140 [ 52 | 30 | 13 | 16 || M22| 150 | 56 | 32 | 14 | 18
M16 | 140 |44 |24 |10 | 13 || M20 | 150 | 52 | 30 | 13 | 16 || M22| 160 | 56 | 32 | 14 | 18
M16 | 150 |44 |24 |10 | 13 || M20 | 160 | 52 | 30 | 13 | 16 || M22| 170 | 56 | 32 | 14 | 18
M16 | 160 |44 |24 |10 | 13 || M20 | 170 | 52 | 30 | 13 | 16 || M22| 180 | 56 | 32 | 14 | 18
M16 | 170 |44 |24 |10 | 13 || M20 | 180 [ 52 | 30 | 13 | 16 || M22| 190 | 56 | 32 | 14 | 18
M16 | 180 |44 |24 |10 | 13 || M20|[ 190 | 52 | 30 | 13 | 16 || M22| 200 | 56 | 32 | 14 | 18
M16 | 190 |44 |24 |10 | 13 || M20| 200 | 52 | 30 | 13 | 16

M16 | 200 | 44 | 24 | 10 | 13

U & B < & 20 & B <+ & o & B <+ & 20 & B T &

d | b S k m d | b S k m d | b S k m d | b S [ m
M24 | 65 |54 |36 | 15| 19 || M30| 75 |66 | 46 |19 | 24 || M36| 100 | 78 | 55 | 23 | 29 || M42| 120 | 90 | 65 | 26 | 34
M24| 70 |54 |36 | 15| 19 || M30| 80 [ 66 |46 |19 | 24 || M36| 110 | 78 | 55| 23 | 29 || M42| 130 | 96 | 65 | 26 | 34
M24| 75 |54 |36 | 15| 19 || M30| 85 |66 |46 |19 | 24 || M36| 120 | 78 | 55| 23 | 29 || M42| 140 | 96 | 65 | 26 | 34
M24 | 80 |54 |36 | 15| 19 || M30| 90 |66 | 46 |19 | 24 || M36| 130 | 84 | 55 | 23 | 29 || M42| 150 | 96 | 65 | 26 | 34
M24 | 85 |54 |36 | 15| 19 || M30| 95 |66 |46 |19 | 24 || M36| 140 | 84 | 55| 23 | 29 || M42| 160 | 96 | 65 | 26 | 34
M24| 90 |54 |36 | 15| 19 || M30 [ 100 [ 66 | 46 | 19 | 24 || M36| 150 | 84 | 55 | 23 | 29 || M42| 170 | 96 | 65 | 26 | 34
M24 | 95 |54 |36 | 15| 19 || M30 | 110 |66 | 46 |19 | 24 || M36| 160 | 84 | 55| 23 | 29 || M42| 180 | 96 | 65 | 26 | 34
M24 | 100 | 54 | 36 | 15| 19 || M30 | 120 |66 | 46 | 19 | 24 || M36| 170 | 84 | 55| 23 | 29 || M42| 190 | 96 | 65 | 26 | 34
M24 | 110 | 54 [ 36 | 15| 19 || M30 [ 130 |72 | 46 |19 | 24 || M36| 180 | 84 | 55| 23 | 29 || M42| 200 | 96 | 65 | 26 | 34
M24 | 120 | 54 |36 | 15| 19 || M30 [ 140 |72 | 46 | 19 | 24 || M36| 190 | 84 | 55 | 23 | 29
M24 | 130 | 60 | 36 | 15| 19 || M30 [ 150 |72 | 46 | 19 | 24 || M36| 200 | 84 | 55 | 23 | 29
M24 | 140 | 60 | 36 | 15 | 19 || M30 [ 160 |72 | 46 | 19 | 24
M24 | 150 | 60 [ 36 | 15 | 19 || M30 [ 170 |72 | 46 | 19 | 24
M24 | 160 | 60 | 36 | 15 | 19 || M30 [ 180 |72 | 46 | 19 | 24
M24 | 170 | 60 | 36 | 15 | 19 || M30 [ 190 |72 | 46 | 19 | 24
M24 | 180 | 60 [ 36 | 15| 19 || M30 [ 200 |72 |46 |19 | 24

M24 | 190 | 60 | 36 | 15 | 19
M24 | 200 | 60 | 36 | 15| 19

£ 1.8 N FvbDRLIE IS B 0205 (A—RLIEEHRL) ICE5,
2. 5HEHEZEIRJIS B 1180 (R ERFR1—2AFILh-F) RIS B 1181 (B EF R -2 AF V) ILLB,

- 542 —




RIVkFyb-/Nyx> [SDCHRIVE-SUS304] et e SDCH (SocHLrFoh)
M T REETEKRADT ven

7.5K##% SUS304B-N-P (£E/ Sy >) | [ 7.5K#E#& SUS304B-N-P(GFF/\vx18) |
WUR| SRR | s | A5 | pNEE | BN PR HOR| SRR | g | AR | pNEE | BN PR

50 1,260 M16X65 4 738 4,212 50 1,020 M16X65 4 738 3,972

75 1,410 M16X75 4 796 4,594 75 1,040 M16X75 4 796 4,224
100 1,760 M16X75 4 796 4,944 100 1,320 M16X75 4 796 4,504
125 2,880 M16X75 6 796 7,656 150 1,850 M16X75 6 796 6,626
150 3,080 M16X75 6 796 7,856 200 2,280 M16x80 8 822 8,856
200 3,740 M16X80 8 822 10,316 250 2,580 M20x85 8 1,654 15,812
250 5,280 M20x85 8 1,654 18,512 300 2,720 M20x85 10 1,654 19,260
300 7,260 M20x85 10 1,654 23,800 350 4,110 M22x95 10 2,394 28,050
350 9,750 M22x95 10 2,394 33,690 400 5,720 M22x95 12 2,394 34,448
400 12,390 M22x95 12 2,394 41,118 450 6,970 M24x100 12 3,146 44,722
450 14,360 M24x100 12 3,146 52,112 500 17,520 M24x100 12 3,146 55,272
500 16,100 M24X100 12 3,146 53,852 600 19,330 M24X100 16 3,146 69,666
600 16,410 M24X100 16 3,146 66,746 700 22,550 M30X110 16 7,610 144,310
700 19,050 M30x110 16 7,610 140,810 800 25,710 M30x120 20 7,930 184,310
800 23,150 M30x120 20 7,930 181,750 900 28,920 M30x120 20 7,930 187,520
900 25,630 M30x120 20 7,930 184,230 1000 35,380 M30x130 24 8,270 233,860

1000 27,980 M30x130 24 8,270 226,460

SDCRRRIVE

m & ## =1

FILR SUS304(SDCHT—#LIE)

Fwb SUS304(SDCHT—4LIE)

FES SUS304(SDCHT—#LIE)

iz R ES o RN TR A B

ZRMERAR)-T HUNMEIEHRE=—IL
WisE
1. EBESBICKAEREMHIELET, 4.Z2F L ZRIVM-FIYPDRADR R THIHRTEEEERICBHIELET,

2. BKPPERROBET CECSILREMILELET, 5. AFKEHSHREEBATT,
SEBRKETERMENIRETY,
SRR I ES P AR A E T O T BRER T EBLTHE1 0mmEL ERDICTIER T,

7.5K%H% SUS304B-N-P (& &/ \v¥>) | | JIS10K#E#HE SUS304B-N-P (£E/Sv¥>)
mow| el | S1RE | 24| SNem | ewemme wor| roxonm | D00% | 52| SNem | eaommn

50 1,260 M16X85 4 1,982 9,188 50 1,260 M16X75 4 1,892 8,828
75 1,410 M16X85 4 1,982 9,338 75 2,150 M16X75 8 1,892 17,286
100 1,760 M16X85 4 1,982 9,688 100 2,700 M16X75 8 1,892 17,836
125 2,880 M16X85 6 1,982 14,772 125 3,460 M20x90 8 3,286 29,748
150 3,080 M16X85 6 1,982 14,972 150 3,900 M20x90 8 3,286 30,188
200 3,740 M16X90 8 2,032 19,996 200 5,720 M20x90 12 3,286 45,152
250 5,280 M20x100 8 3,440 32,800 250 6,820 M22x95 12 4,202 57,244
300 7,260 M20x100 10 3,440 41,660 300 9,460 M22x95 16 4,202 76,692
350 9,750 M22x110 10 4,540 55,150 350 13,270 M22x100 16 4,316 82,326
400 12,390 M22x110 12 4,540 66,870 400 16,780 M24x120 16 6,136 114,956
450 14,360 M24x120 12 6,136 87,992 450 23,210 M24x120 20 6,136 145,930
500 16,100 M24x120 12 6,136 89,732 500 27,610 M24x120 20 6,136 150,330
600 16,410 M24x120 16 6,136 114,586 600 30,100 M30x130 24 12,470 329,380
700 19,050 M30x130 16 12,470 218,570 700 41,740 M30x130 24 12,470 341,020
800 23,150 M30x140 20 12,980 282,750 800 49,250 M30%140 28 12,980 412,690
900 25,630 M30x140 20 12,980 285,230 900 54,180 M30%140 28 12,980 417,620
1000 27,980 M30x150 24 13,280 346,700 1000 68,030 M36%160 28 21,800 678,430

- 543 —



